=N

Spare Parts Components

WAMV50
CONTROL VALVE




Index - Icindekiler

ERN MONOBLOCK DIRECTIONAL CONTROL VALVE

Spare Parts Components

WAMYV 50

monoblock directional control valve

Product Features
Urtin Ozellikleri

General Specifications
Genel Ozellikler

Order Coding
Siparis Kodlama

Dimensional Data
Olgiisel Bilgi

Performance Data
Performans Egrileri

Hydraulic Specification
Hidrolik Devre

Inlet Options
Basing (P) Hatti Opsiyonlari

Spool Positioners
Stirgti Kontroller

Spool Options
Sdrgti Tipleri

Lever Types
SapTipleri

Outlet Options
Tank (T) Hatti Kapag!




ERN MONOBLOCK DIRECTIONAL CONTROL VALVE

Spare Parts Components

General Specifications
Genel Ozellikler

Product Features

* WAMVA0 is an ideal control valve for nominal flow rate
50 Ipm and operating pressures up to 350 bar. With its
unique design WAMV50 a wide application range.

« Valve is equipped with an adjustable main relief valve
and a load hold check valve

* Avaliable in parallel (in standard) and series circuit

 Wide range of spool options

* Interchangable @16 mm Spools

« Carry-over and closed center option

« Valve can be operated by manual, pneumatic,

Ozellikler

* WAMV50 serisi 50 It/dk ve 350bar’a kadar maksimum
performansi gésteren, gelismis 6zellikleriyle bircok mobil

uygulama igin ideal kontrol kumandasidir.
* Ayarlanabilir Ana Emniyet Valfi
* Yiik Tutma Valfi
* Paralel Devre ve Seri Devre imkani
* Cesitli Sdrgi Tipleri
* Degistirilebilir @16 mm Sdrgdiler
« Carry-over ve Kapali Merkez imkani
» Manuel, Pnématik, Elektro-Pnématik, Hidrolik,

electro- pneumatic, hydraulic, electro-hydraulic, Elektro-Hidrolik, Direk Elektrik kontrol imkani

solenoid and remote cable control

Standard Material Specifications Standard Maizeme Ozellikleri

High Resistence Cast Iron Body Dskim Gévde

Hard Chromium Plated Interchangable Spools Sertiestiriimis Krom Kaplama Stirgiiler
Steel spring caps Celik Yay Kapakiari

Aluminium Lever Caps Aluminyum Sap Kapaklari

NBR Seals NBR Sizdirmaziik Elemaniari

Working Conditions Calisma Sartlar:

Recommended Qil Viscosity Range Onerilen Yag Vizkozite Araiigi 10 ¢St to 75 ¢St
Recommended Fluid Temperature Range Onerilen Calisma Sicakligi (°C) -20 to +80
Environmental Temperature Range Onerilen Ortam Sicakiigi (°C) -40 to +60

Maximum Gontamintation Level Maksimum Kirlilik Seviyesi Class 10 (NAS 1638) 19/16 (1SO 4406)

Technical Specifications Teknik Ozeliikier

Nominal Flow Debi 50 Ipm 13 US gpm
Number of Spools Diiim Sayisi 1-1
Maximum Working Pressure Maksimum Calisma Basinc g‘gob:’f}: < SN ?&ggsﬁismes e
Maximum Back Pressure Maksimum Tank Hatt Basinci 30 bar 430 psi

4cc-9cc 0,24 - 0,54 in3/m

Internal Leakage i¢ Kagak Degeri

(100 Bar; 32 cSt, 40°C) (1450 psi; 32 cSt, 104°F)

We reserve the right to introduce improvements and make necessary changes without prior notice.



ERN MONOBLOCK DIRECTIONAL CONTROL VALVE

Spare Parts Components

Order Coding
Siparig Kodlama S C

Sirgu Kontrolleri

Inlet Options @

Basing (P) Hatti Opsiyonlari

d= ol Outlet Options

Tank (T) Hatti Opsiyonlari

ST Em

l Surgu Tipleri
WAMVS02A - R(180) - 2x SC4 ST11 K3/ H
1 2 3 4

Valve Type Vaif Tipi

Inlet Options Pompa (P) Hatti Opsiyonlari
WAMV50 Valve Series Vaif Serisi

) Number of Spools Stirgii Sayisi R g/lam Rehesf Vgllve Ana Emni{/et.Va/ﬁ
A Port Thread Port digiileri 180 ressure Setting Basing Degeri

Working Section Dilim

Outlet Options Tank (T) Hatti Opsiyonlari
SC4 Spool Positioners Stirgii Kontrolleri

ST11  Spool Options Stirgii Tipleri H

Outlet Options Tank Hatti Opsiyonlari
K3 Lever Types Sap Tipleri

\4

This part must be coded seperately for each working section. If adjacent sections are identical then code the first section and put number of identical sections with a cross.
Example for 3 identical sections; WAMV504A-R(180)/SC1ST1/3XSC4ST1

Bu béliimdeki kodfama her dilim icin ayrr ayrt yapiimalidir.

Eger birbirini takip eden ve ayni konfigiirasyona sahip dilim isteniyorsa, ayni difimler, dilim sayisi basa getirilip yanina ¢arpi konacak sekilde kodlanabilir.
Ornek Kodlama; WAMV504A-R(180)/SC1ST1/3XSC4ST1



ERN MONOBLOCK DIRECTIONAL CONTROL VALVE

Spare Parts Components

B Port Tarafi
. .
Dimensional Data

Pompa Hatti - P1 (Ust)

Olgiisel Bilgi

Outlet - T1 (Top)
Tank Hatti - T1 (Ust)

Outlet - T2 (Side)
Tank Hatti - T2 (Yan)

Standard & Optional Threads Standart ve Opsiyonel Olgiiler utet - T00)

Tank Hatti - T(CO)

Thread Code P—P1-T1 A/B T2 T(CO)
A G 3/8” G 3/8” G 1/2" G1/2”

BSP(Standard)
G 1/2 G1/2 G1/2” G 1/2
UNULE L 9/16 - 18 (SAE 8) 9/16 - 18 (SAE 8) 7-8 — 14 (SAE 10) G 1/2”
M 7-8 — 14 (SAE 10) 7-8 — 14 (SAE 10) 7-8 — 14 (SAE 10) G 1/2”
METRIC U M18x1,5 M18x1,5 M22x1,5 G1/2

BSP threads are standard threads. Its necessary to code the port thread after valve series during ordering in monoblock valves. Example coding; WAMV502B-R(160)/SC1ST1
Valflerimiz standart olarak BSP Dis iiretilmektedir. Talep edilen port élgiileri monoblok valflerde valf tipi kodlamasindan hemen sonra kodlanir. Ornek Kodiama; WAMV502B-R(160)/SC1ST1

K

[2.54]

[1,59] [1.57] [1.57] [1.22] 64,5
40,5 40 40 31
[1.10]
[0,26] [1.,34] [0,34] 28
65 34 8,5
Si =N

[1.42]
36

[8.03]
204
[4,33]
110

&
[2.22]
56

o€l

Dimensions & Weight O/giiler ve Agirlik

. L Weight Agiriik
Type / Tip : :
inc mm inc kg Ib

WAMV501 80 S5 121 4.76 3.50 7.70
WAMV502 120 4.72 161 6.34 5.90 13.00
WAMV503 160 6.3 201 7.91 7.15 555
WAMV504 200 7.87 241 9.49 8.60 18.95
WAMV505 240 9.45 281 11.06 10.65 23.50
WAMV506 280 11.02 321 12.64 12.30 27.10
WAMV507 320 12.6 361 14.21 13.50 29.75

Given weights are for standard configurations. Agirfikiar standart konfigtirasyon igin veriimistir.



MONOBLOCK DIRECTIONAL CONTROL VALVE

S ; Spare Parts Components

Performance Data
Performans Egrileri

Pressure Drop Curves Basing Kayip Egrileri

Ap

Bar

PSI

20

290
250

WAMV506

15

200

WAMV504

10

150

100

WAMV502

50

40 60 Ipm

20

15.8 USGPM

0.5

5.2

Ap

Bar
20

PSI

290
250

P-A6(B5)
P-A4(BY)
P-A2(R)

15

200

10

150

100

50

40 60 Ipm

20

USGPM

15.8

0.

5.2

Bar
20

Ap
PSI
290
250

AB-T

15

o
o
N

10

150

A(RR)-T

100

As(Bs) -T

50

60 Ipm

40

20

15.8 USGPM

10.5

O82

Measured with spool type ST1 and 32 cSt hydraulic oil @ 40°C.

ST1 strgli ve 32 ¢St hidrolik yag ile 40°C’de igtiimdistir.



ERN MONOBLOCK DIRECTIONAL CONTROL VALVE

Spare Parts Components

Hydraulic Specifications

Hidrolik Devre
Parallel Circuit Paralel Devre NO
CODE

Standard configuration; Parallel circuit with upper inlet and outlet.
Standart konfigiirasyon; Parallel devre, P1 ve T1 agik, B T2 ve T(CO) kér seklindedir.

P1

Al B1 A2 B2 mM
| | .
| "ﬂ
5 i i T(co)
\ \
_ AR
Series Circuit Seri Devre S
R1 A1 B1 A2 B2 T
u ‘ ol . u
| ——— | |
| ‘ | | g
sl | EQ Y EQ ;
e e e
& (€ 1218 i 1S feie
| | | |
| \ | |

Maximum working pressure is 250 bar.
Maksimum calisma basinci 250 bar.

Series Circuit is coded with «S» before each series working section demanded. Example Coding; WAMV502A-R(200)/SSC1ST1/SSC1ST1
Seri devre her seri dilimin éniine «S» gelecek sekilde kodlanir. Ornek Kodiama; WAMV502A-R(200)/SSC1ST1/SSC1ST1



ERN MONOBLOCK DIRECTIONAL CONTROL VALVE

Spare Parts Components

Inlet Option
Basing (P) Hatti Opsiyonlari

WAMV501A-R(180) / SC4 ST11 K3 L/ S

L Pressure setting value(please indicate the necessary pressure in bar)
Basing Ayar Degeri

Relief Valve Options
Ana Emniyet Valfi Opsiyonlari

Adjustable Direct Acting Main Relief Valve Ayarlanabilir Ana Emniyet Valfi (Direk Etkili)

P1

WRENCH 24
- (42 NM)

WRENCH 24
(42 NMj

WRENCH 24
(24 NM]

=
I@‘

N

Y

‘ 49
Please indicate the necessary pressure setting value. MRV is preset to 180 Bar at 15 Ipm unless otherwise speficied.
Liitfen ayarlanmasini istediginiz basing degerini bildiriniz. Uriinler standart olarak 15 lt/dk’da 180 Bara ayarlanir.
. . . Code / Kod
Main Relief Valve Blanking Plug Emniyet Valfsiz

Y

Y
;\\\
[i [0.41]

\ 105
RN i

Main Relief Valve Performance Data Ana Emniyet Valfi Performans Egrisi

PSI BAR
4350 | 300

3600 - 250 /_/

2900 | 200 ——— 140 BAR /2000 PSI
———— 200 BAR /2900 PSI
218 150 ——— 250 BAR/ 3600 PSI
1450 100
725 50 Measured with 32 ¢St hydraulic oil @ 40°C and neglected tank line pressure.
. 0 32 cSt hidrolik yag ife 40°C’de, tank hatt; basinci ihmal edilerek 6igiimdsttir.
0 10 20 30 40 50 Ipm

0 2.6 5.2 7.9 10.6 13.2 USGPM



ERN MONOBLOCK DIRECTIONAL CONTROL VALVE

Spare Parts Components

Spool Positioners
Strgii Kontrolleri

WAMV501A- R(180) /  SC4 ST11

L Spool Positioners

Sdrgii Kontrolleri

Spool Positioners with Spring Return Yay Déniislii Siirgti Kontrolleri

s c 1 3 Positions Spring Return

3 Pozisyon Yayli

K3 /

s c 5 2 Positions Spring Return

2 Pozisyon Yayli

M5x10
Allen Wrench 4
6.6 Nm/4.9 ibft

M5x10
Allen Wrench 4
6.6 Nm/4.9 ibft

Allen Wrench 4
9.8 Nm/7.2 ibft

M6X30
Allen Wrench 5
9.8 Nm/7.2 ibft,

Stroke : -5.5 mm

loos] |
2

37.5

S c 6 2 Positions Spring Return

2 Pozisyon Yayli

213 o "W g i o
A 2113} i J/ @ Gl 2[1]
[1.,48]

Sa el
Stroke : +5.5 mm QEL

s c 1 1 2 Positions Spring Return in 3rd Position

M6X30
Allen Wrench

M5x10
Allen Wrench 4
6.6 Nm/4.9 ibft

5
9.8 Nm/7.2 ibft

[0.08] |
2

[1.48]

37.5

€

l :
1
A 1131

Stroke : +5.5 mm

S c 2 5 3 Position Spring Return with
male M8 pin extension for dual control

3 Pozisyon Yayli, M8 Erkek Uzatmali

Wrench 16
2.8Nm/7.2 ibft

H

7]
189

éo,
MB8x1,25

N

N\
L

[o.2]
4

N\
N\

M5x16
Allen Wrench 4
6.6 Nm 4.9 bt

[1.50]
38
S c 3 3 3 Position Spring Return with stroke limiter

Al
s

A1 8 Q@
AN 2[ 13

Stroke ; £5.5 mm

2 Pozisyon, 3. Pozisyona Yayl

M5x10

Allen rench 4
6.6 Nm 4.9 ibft
Méx20
Allen rench 5
9.8 Nm 7.2 bft

h
L

|3 S0 |

|
2 3 o

Stroke : +11 mm

38
S c 1 2 2 Positions Spring Return in 2nd Position

Wrench 10
24 Nm/17.7 ibft

2 Pozisyon, 2. Pozisyona Yayl

M5x10
Allen Wrench 4
6.6 Nm/4.9 ibft

|
2 g 0

Stroke : -11 mm

[o1] J
2

3 Pozisyon Yayli, Strok Limitleyici

x
Allen Wrench 4
6.6 Nm/43 ioft
Allen Wrench 5
9.8 Nm/7.2 bt

len Wrench 4
6 Nm/4.9 bt

ﬁ

PR

AN 2] 1[3H

Stroke : +5.5 mm (Max.) / -5.5 mm



ERN MONOBLOCK DIRECTIONAL CONTROL VALVE

Spare Parts Components

Spool Positioners with Detent
Detantli Sdrgd Kontrolleri

S c 2 3 Position Spring Return, Detent in Pos. 3

3 Pozisyon Yayli, 3.Pozisyon Detantli

Méxs5 M5x16
Allen Wrench § Allen Wrench 4
9.8 Nm/7.2 ibft 6.6 Nm/4.9 ibft Méx55
Allen Wrench 5
9.8 Nm/7.2 ibft

173 <V % % ¢
[03]
7

[2.70]
68,5 68,6

Stroke ; £5.5 mm

S c 4 3 Position Detent in All Positions

3 Pozisyon Detantli

M5x10
Allen wrench 4
6,6 Nm/4,9 Ibft

2 13 o [073]
o ol

S c 3 3 Position Spring Return, Detent in Pos. 2

3 Pozisyon Yayli, 3.Pozisyon Detantli

M5x16
Allen Wrench 4
6.6 Nm/4.9 ibft

2/

3 o
cm2[1[3H

Stroke ; =5.5 mm

S c 7 2 Position Detent

2 Pozisyon Detantl

Stroke ; £5.5 mm

S c 8 2 Position Detent

2 Pozisyon Detantli

M5x10
Allen Wrench 4
6.6 Nm/4.9 ibft.

Allen Wrench 7 A i
9.8 Nm/7.2 ibft 98 Nmi72 101

¢

2 0

Stroke : -5.5 mm

S c 1 3 2 Position Detent

2 Pozisyon Detantli

/@i |

1 .9 0
i3

Stroke : +5.5 mm

[1,48]
37.5

!

Stroke : +11 mm

M5x10
Allen wrench 4
6.6 Nm/4.9 Ibft

s c 2 8 3 Position Spring Centered with Detent

3 Pozisyon Yayli ve Detantli

M5x16
Allen Wrench 4
6.6 Nm 4.9 ibft

Méx55
Allen Wrench 5
9.8 Nm 7.2 ibft

'

o

%%

2 1 3 o}

Stroke : £5.5 mm



ERN MONOBLOCK DIRECTIONAL CONTROL VALVE

Spare Parts Components

4 Position a Side Spool Positioners
4 Pozisyon A Tarafi Siirgii Kontrolleri

S c 9 4 Position Spring Return, Detent in 4th Pos.

4 Pozisyon Yayli, 4.Pozisyon Detantli

M6X55
Allen Wrench 5
9.8 Nm/7.2 ibff

(777227)2722777727777Z27Z,
e e S

! .
735 ‘ -

Used with Spool ST9B Stroke : 5.5 mm / +5 mm
ST9B Siirgti ile kuflaniir

S c 1 0 4 Position Detent in All Positions

4 Pozisyon Tum Pozisyonlar Detantli

M5x10
Allen Wrench 4
6.6 Nm/4.9 ibft

Used with Spool ST9A

ST9A Stirgi ile kullantir Stroke : £5.5 mm / -5 mm

S c 2 1 4 Position Spring Return, Feel Detent in 4th Pos.

4 Pozisyon Yayli, 4.Pozisyon Hissetmeli Detantli

M5x16
Allen Wrench 4
6.6 Nm 4.9 ibft

Méx55
Allen Wrench 5
9.8 Nm 7.2 ibft

A0 9 i
A 412] 13
Used with Spool ST10A

ST10A Siirgii ile kuftaniir -~ Stroke : 5.5 mm / -3.5 mm

S c 2 3 4 Position Spring Return, Detent in 4th Pos.

4 Pozisyon Yayli, 4.Pozisyon Detantli

M5x16
Allen Wrench 4
6.9 Nm 4.9 ibft

]
Wi
&

25 = ¢
4 2 1 8 o
5 NANAA 213

Used with Spool ST9A Stroke : 5.5 mm / -4.5 mm
ST9A Stirgi ile kullanitir

Méx30
Allen Wrench 5
9.8 Nm/7.2 ibft

S c 2 4 4 Position Detent in All Positions

4 Pozisyon Tum Pozisyonlar Detantl

M5x10
Allen Wrench 4
6.6 Nm/4.9 ibft

Allen Wrench 7

9.8 Nm/7.2 ibft
I
{
; | o=} S ﬁ
e \
;///I///,,),,‘},. )J///Al
eS|

Used with Spool ST9B

ST9B Siirgii ile kullantir Stroke : £5.5 mm / +5 mm

S c 2 2 4 Position Spring Return, Feel Detent in 4th Pos.

4 Pozisyon Yayll, 4.Pozisyon Hissetmeli Detantli

Méx55 M5x16
Allen Wrench 4
6.6 Nm 4.9 ibft

Allen Wrench 5
9.8 Nm 7.2 ibft

[2.88] | 2134 P
752 s 2013417

Stroke : +5.5 mm / +3.5 mm

Used with Spool ST10B
ST10B Stirgii ile kulfanifir



ERN MONOBLOCK DIRECTIONAL CONTROL VALVE

Spare Parts Components

MSX16

el [so] Alen ianch 4
S c 1 5 0n-0ff Pneumatic Gontrol “ & ittt
On-Off Pnématik Kontrol i

[118]
m
|

.

L =
)

Pilot Pressure Min. 6 Bar/ 85 PS/ L o
Pilot Basinci Max. 12 Bar/ 170 PSI 7.

Stroke (mm)
Strok (mm)

+5,5mm

200 S O
P INAAN 2] 13 FH
S c 3 0 On-Off Electro-Pneumatic Control

On-Off Elektro-Pnomatik Kontrol

Operation Characteristics

Pilot Pressure Min. 6 Bar/ 85 PSI Stoply Volage
Pilot Basinct Max. 12 Bar/ 170 PS/ 12VDC s c 3 0 2
Coil Characteristics 24VDC S c 3 0 4
Coil Connection Type DIN 43650
Bobin Baglanti Tipi
Suppy Voltage
Voltaj 12VDC, 24VDC e g0
Protection Type '
Koruma IP65
Nominal Voltage Tolerance | |
Nominal Voltaj Toleransi ~ + 10% 8 8 ’Z‘ETT i«%‘éc&?
Duty cycle 3y 3
Gorev Cevrimi 100% T &5 5
Absorbed Power il g —
o DC 8W S |
R Class “H” coil as from [ '
OGN e the IEC 85 standard.

H—

Maksimum Galisma Sicakhigi  Class “H” 180°C

Yalitim Sinifi ) = = 1 18
Class “H” wire (200° C). @
Maximum Temperatures Class “F” 155°C S | ‘
9.8 Nm

Stroke (mm)

Strok (mm) +55mm
Kit Order Code 12VDC - 2005712000
Kit Siparis Kodu 24VDC - 2005448000

S C1 6 ==z

On-Off Hidrolik Kontrol

Operation Characteristics

Pilot Pressure Min. 6 Bar/ 85 PSI
Pilot Basinct Max. 50 Bar/ 720 PSI/

Stroke (mm)

Strok (mm) +5,5 mm

[419] Al 1 & /
1065 xVAVAVAVAVIll'



ERN MONOBLOCK DIRECTIONAL CONTROL VALVE

Spare Parts Components

S c 1 7 0On-Off Electro-Hydraulic Control

On-Off Electro-Hydraulic Control
Supply Voltage Order Code

Operation Characteristics

Pilot Pressure Min. 10 Bar / 145 PSI 12voc SC172
Pilot Basinci Max. 25 Bar / 360 PSI 24VDC S c 1 7 4
Back Pressure Max. 3 Bar
Tank Basinci ’
Coil Characteristics (18] (23]
Coil Connection Type \ “ \ =
Bobin Baglanti Tipi DIN 43650 [ [ ]
[ I\ [ 1
Suppy Voltage
Voltaj 12VDC, 24VDC
Protection Type P65
o :
Nominal Voltage Tolerance R i AT
Nominal Voltaj Toleransi £10% (ore]
0,16
Duty cycle 4
Gérev Cevrimi 100%
Absorbed Power 18W / f
Glg _ @
Coil Insulation Class o o
Yalitim Sinifi Class "F” 155°C
[4.92]
125
Maximum Temperatures o [5,40]
Maksimum Caltsma Sicakligi 100°C ¥
DI\ 2]1]3

Stroke (mm)

Strok (mm) +5,5mm

This section will be revised/completed

with the final version of this catalogue.

Bu bélim, katalogun son versiyonunda
yayinlanacaktir.




ERN MONOBLOCK DIRECTIONAL CONTROL VALVE

Spare Parts Components

S c 1 4 0n-0ff Solenoid Control

On-Off Direk Elektrik Kontrol

Operation Characteristics SUpply R UL

: 12VDC
‘é’gg‘g‘g gggﬁ%’ re Max. 230 Bar /3300 PSI g g } 2 ﬁ
24VDC
Sack Fressure Max. 5 Bar/ 70 PSI
ank Basinci
Internal Leakage Max. 20 cc
l¢ Kagak ' Alon rnch s
Stroke
Sthk - 3 i Pim Selonoid Kontro
Coil Characteristics
Coil Connection Type
Bobin Baglanti Tipi DIN 43650
Suppy Voltage
Voltaj 12VDC, 24VDC J
Protection Type - \%
Koruma IP65

DETAIL A
SCALES: 1

Nominal Voltage Tolerance
+ 0,
Nominal Voltaj Toleransi £10%

Duty cycle O
Gérev Cevrimi 100% l"-
Absorbed Power

Gilg 80w

Coil Insulation Class Class “H” 155°C

Yalitim Sinifi

Connection / Baglanti

= 1-2 Port B

I =& 1-3 Port A

A2 B2

2
W

On-0ff Direct Solenoid Control requires special machining on valve body,

equipped with special lever caps and spools.
On-Off Direk Elektrik Kontrol, ézel gévde, slirgii ve sap kapakiariyla dretilmektedir.




ERN MONOBLOCK DIRECTIONAL CONTROL VALVE

Spare Parts Components

S c 1 8 3 Positions, Microswitch Operation in both positions (NC)

3 Pozisyon, Cift Tarafli Mikrosvi¢ Kontrol (NK)

M5x90
Allen Wrench 4
6.6 Nm/4.9 1bft

Allen Wrench 22
6.6 Nm/4.9 1bft

[2.93]
74,40

Wrench 6
6.6 Nm/4.9 1bft

L o

Stroke : £5.5 mm
80

Configuration iwth normally open (NO) circuit is available, please contact our sales department.
Normalde Acik (NA) konfigtirasyon igin litfen satis departmanimizia baglantiya geginiz.

s c 1 8A 3 Positions, Microswitch Operation in 3rd Position

3 Pozisyon, 3.Pozisyona Mikrosvig Kontrol

[1,40]
36

[2.93]
75

DNy

Stroke : =5.5 mm

S c 1 8 B 3 Positions, Microswitch Operation in 2nd Position

3 Pozisyon, 2.Pozisyona Mikrosvig Kontrol

[2.52]
64

[2.93]
74,4

I

N Zam

) Stroke : £5.5 mm

[3.51]
89




ERN MONOBLOCK DIRECTIONAL CONTROL VALVE

Spare Parts Components

Spool Options
Sdrgd Tipleri

WAMV501A- R(180) / SC4  ST11 K3 /

L Spool Options

Sdrgti Tipleri

Spool Positions Siirgii Pozisyoniari

1st Position 2nd Position 3rd Position 4th Position

1. Pozisyon 2. Pozisyon 3. Pozisyon 4. Pozisyon

Spool Neutral Position Spool In Position Spool Out Position 4th Pos. Spool Out  4th Pos. Spool In
Nétr Mil Igerde Mil Digarda 4. Pozisyon Mil Disarda 4. Pozisyon Mil igerde

A B A B
I I I L 1B I'TT I
ST 1 3 Position, Double Acting >< ST4 3 Position, Closed Center ><
T T T T TTT T
3 Pozisyon, Cift Etkili ) P 1 T 3 3 Pozisyon, Kapall Merkez P : T g
E -
" , , 3 Position, A Port =0
STZ 3 Postlon, A Port Single Atlng N ST5 Single Acting and to Tank 15 _l M\
3 Pozisyon, A Port Tek Etkili . P / T 5 3 Pozisyon, A Port Tek Etkl . P : T d
ve Tanka Agik
A B B
sy 3 Position, B Port L
ST3 3 Position, B Port Single Acting , | f /T ST6 Single Acting and to Tank i 1 o
3 Pozisyon, B Port Tek Etkili o Pe T 3 BRI

3 Pozisyon, B Port 2 1 3
Tek Etkili ve Tanka Agik

A B A B
3 Position, Double Acting, 3 L_ 3 3 Position, MBS
A/B to Tank AL 4 Double Acting A to Tank A A
P, T
3 Pozisyon, Cift Etkili 2 1 P U 3

3 3 Pozisyon, 2

A ve B Tanka Aclk Cift Etkili ve A Tanka Agik



ERN MONOBLOCK DIRECTIONAL CONTROL VALVE

Spare Parts Components

ST8 3 Position T >J< S 1 ZA 3 Position, Double Acting With it
" Regenerative in 3rd Position
Double Acting B to Tank il 4/ (2nd Position Spool In) 5
3 Pozisyon 2 1 3 ; . - 3
. o 3 Pozisyon,Cift Etkili
i BN TR VA 3 Pozisyonda Rejeneratif
(Mil Igerde 2. Pozisyon)
4 Position, Double Acting with A B 3 Position, Double Acting With Y. Ty
STg A Float in 4th Position Eﬂl.l.. X‘ ST1 2 B Regenerative in 2nd Position
(4th Position Spool In) P T (3rd Position Spool Out) T FT’ _T_ T
4A 2 1 3 2 1 3
4 Pozisyon, 4.Pozisyonda Float 3 Pozisyon, Cift Etkili
(Mil igerde 4. Pozisyon) 2.Pozisyonda Rejeneratif
(Mil Disarda 3. Pozisyon)
A B
4 Position, Double Acting with A B I 1
9 Float in 4th Position I-I'.'X‘EH 1 9 3 Position, Series Spool /
(4th Position Spool Out) . o T S
. P1T 3 m 3 Pozisyon, Seri Surgl 2 F’1 1 3

4 Pozisyon, 4.Pozisyonda Float
(Mil Disarda 4. Pozisyon)

4 Position, Double Acting with A B 4 Position, Double Acting With A B
ST 1 OA Regenerative in 4th Position Iﬁl!l.ﬂm ST 1 0 B Regenerative in 4th Position I-I--’X‘IH
(4th Position Spool In) P T (4th Position Spool Out) P T
1% 3
4 Pozisyon, 4 Pozisyon,

4 Pozisyonda Rejeneratif 4.Pozisyonda Rejeneratif
(Mil igerde 4. Pozisyon) (Mil Digarda 4. Pozisyon)

2 1 3 4B



ERN MONOBLOCK DIRECTIONAL CONTROL VALVE

Spare Parts Components

Lever Types
Sap Tipleri

WAMV501A- R(180) /  SC4 ST11 K3 / H

Lever Types J

Sap Tipleri

NO Kleezas K2z
CODE

Standart Sap Kapagi Ters montaj Sap Kapagi Sap Kapaksiz

GOy H FIRET i 213}
5 )

' ] ]
;‘ ﬁ\ﬂ”'—i‘ 90° §§
= [0¢3$] =i
I i = U Y-
i f | iﬁ

-|‘ ; = [106]

ki[”mﬁj Dol

K3 Dust Proof Plate Kit K4 Safety Lever K5 Lever Cap with Spool Limiter

Toz Kapakli Guvenlik Kolu Sirgu Strok Kisitlayici

. O
s = ) P

[0.77]

19.5
| %o
e =
iy
@ @
8o
— o 23
| ) y
i=S 9 1
M5X16 my
— |Allen Wrench 4 =8
6.6 Nm/4.9 bt —
[og1] R =
8 S5 o
' Allen Wrench 4
[13580] W 1 ) 1],\ 6.6 Nm/4.9
@ 275 W
/| 'l )
=9
Fa [ 23 =8 [33]
] i 8392
RN =
275 .
Ll S

Rev. Lever Cap with Spool Limiter

Ters Montaj Surgu Strok Kisitlayici

Ty o

Allen wrench 4
Wrench 4 84 6.6 Nm/f4.9
88Nm /4910t | [11]
27,5

&
[24]
61

L [23]
33

M8

M8




ERN MONOBLOCK DIRECTIONAL CONTROL VALVE

Spare Parts Components

Order Code

KT Cable Connection Kit

Kablo Baglanti Kiti

M5x16
Allen wrench 4

Wrench 24
6.6 Nm/4.9 ibft 24 Nm /17.7 ibft

N

N

Lever Cable Remote Control Cable remote control for Group of Levers
Halat Kontrol Halat Kontrol Grubu

~
Lever cable remote control and cable remote control for group of levers are a modular system offering unlimited number of levers together through screws, also with
many different configurations and cables lengths. Assembled on the valve only on request and extra charge. Please contact our sales department for details.

Halat kontrol ve halat kontrol grubu igin farkli uzuniuklarr mevcuttur. Halat Kontrol grubu ise talebe gore cesitli dilim sayilari igin ve cesitli uzunluklarda temin edilir.
Kontrof grubu birbirine saplamiarfa baglanmaktadir. Liitfen detayl: bilgi icin satis departmanimizia baglantiya geciniz.

Remote Joystick Control Joystik Halat Kontrol

Remote joystick control is available with several options.
Please indicate the cable length demanded and contact
our sales department for further demands.

Joystik halat kontrof farkli gesit ve uzunfuklarda mevcuttur.
Liitfen satis departmanimizia baglantiya geciniz.




ERN MONOBLOCK DIRECTIONAL CONTROL VALVE

Spare Parts Components

Joystick Control
Joystik Kontrol

K 7 Manual Joystick with pivot on top left [27]

. (091
Manuel Joystick Kontrol (Pivot Sol Ust) ‘ =i
4 N W
i — o) S
\ PIE:
M5x10 —
40 o R € [2[1[3H
P13 on \ =R N S TS
, O =P ) = |
2?5 o 3e [ L
S5k K7 is standard configuration unless otherwise speficied.
Aksi belirtiimedikce K7 standart konfigtirasyondur.
K7 B Manual Joystick with pivot on top right
Manuel Joystick Kontrol (Pivot Sag Ust)
[29]
74
[05]
13,5
I % Al i
‘ ‘ = @ O
]
T 1 e © [21H
i : : .
[0.5] N2 =
12 2~
K7 c Manual Joystick with pivot on bottom right
Manuel Joystick Kontrol (Pivot Sag Alt)
(29]
74
[0,5]
12
7 corep ) ,
z O
1 DUz « [
S5 <3 it % ® L i @ [2[1]3F
el %
~D [07]

K7 D Manual Joystick with pivot on bottom left

Manuel Joystick Kontrol (Pivot Sol Alt)

O
A T
5 [2[1[3F

[24]
61,1

43,8

| [09]

22,5

L Jize




ERN MONOBLOCK DIRECTIONAL CONTROL VALVE

Spare Parts Components

Outlet Options
Tank (T) Hatti Opsiyonlari

WAMV501A- R(180) / SC4 ST11 K3 T S

Outlet Options J

Tank (T) Hattr Opsiyonlari

Standard Open Center Upper Outlet (T1 open, T2 plugged)
Standart Agik Merkez (T1 agik, T2 kor) NO
CODE

(|

= | ,
Please contact our sales departsment for other outlet options.
Ozel talepleriniz igin liitfen Satis Departmanimizia baglantiya gegin.

Outlet with Carry-Over

Carry-Over H

When Carry-Over is used for series connection with another valve,

T1 of the first valve must be connected to the tank.
Carry-over kullanildiginda, 1.valfin tank hatti (T1) mutlaka tanka baglanmalidir.

74‘)( T2
— e (co)
I
| | Carry-over is coded at the outlet options part. Ex; WAMV501A-R(200)/SC1ST1/H
Z ‘ Carry-over, déniis kapagi béliimiinde kodlanir.. Orn; WAMV501A-R(200)/SC1ST1/H
- Code / Kod

Outlet with Closed Center Plug
Kapali Merkez K

T

™3 J Kapali Merkez, déniis kapagi béliimiinde kodianir.. Orn; WAMV501A-R(200)/SC1ST1/K
Closed Center is coded at the outlet options part. Ex; WAMV501A-R(200)/SC1ST1/K



SERIES CIRCUIT

110

PARALEL CIRCUIT _. .
o Directional
M
gHydrauIic gControlg
D § ~ ) .
S S =
CONTROL = BSP
- w COIL CONNECTION
i 5 2 MAIN RELIEF
o 5 & vawve S
Feddo o
S z = Qutlet®
= \J o §CLOSED CENTER PLUG
2 SPOOL S &
-
>

CARRY

@ Isiklar Mh. Demiryolu Cad.
95/A Selcuklu / Konya / TURKEY

+903323233234
+903323233234

‘ @ info@werahydraulic.com

www.werahydraulic.com
—)  WwWw.weraspc.com




